
 

 
 

Two ways sperich valve 

 Steering control: Flange for 

Actuator ISO 5211 - DIN 3337 

Connection: ISO 228 

threaded F/F 

 Passage: Total 

Material: Aisi 304 - 316 

Measures: from 1/4” to 4” 

Gaskets: P.T.F.E. vergin 

 Working temperature: -20°C +160°C 

Outer finish: Polish 

 
On request: 

• Threading ISO 7 

• Threading NPT 

 
• Gaskets in: PTFE glass 

charged 

PTFE Carbon graphite charged 

high  density polyethylene



 
 
 

 
 

G 
 

DN 
 

L 
 

I 
 

H 
 

PN 
 

Kg 
ISO- 

DIN 

 

Ø a 
 

b 
Ø 

cxo 

 

□ 
 

d 
 

e 
 

f 
 

n°4 
screws
s 

Nm 

* 

1/4" 9 52 13 39 64 0,35 F.03 46 9 25x3 9 8 36 6 M5x16 5 

1/4" 9 52 13 39 64 0,39 F.04 54 9 30x3 11 10 42 6 M5x16 5 

3/8" 10 52 13 39 64 0,34 F.03 46 9 25x3 9 8 36 6 M5x16 5 

3/8" 10 52 13 39 64 0,38 F.04 54 9 30x3 11 10 42 6 M5x16 5 

1/2" 15 62 15 41,5 64 0,45 F.03 46 9 25x3 9 8 36 6 M5x16 8 

1/2" 15 62 15 41,5 64 0,50 F.04 54 9 30x3 11 10 42 6 M5x16 8 

3/4" 20 72 17 45 64 0,64 F.03 46 9 25x3 9 8 36 6 M5x16 12 

3/4" 20 72 17 45 64 0,68 F.04 54 9 30x3 11 10 42 6 M5x16 12 

1" 25 82 19 51,5 40 0,90 F.04 54 9 30x3 11 10 42 6 M5x16 15 

1" 25 82 19 51,5 40 0,95 F.05 65 9 35x3 14 13 50 7 M6x16 15 

1"1/4 32 92 19 56,5 40 1,30 F.04 54 9 30x3 11 10 42 6 M5x16 18 

1"1/4 32 92 19 56,5 40 1,34 F.05 65 9 35x3 14 13 50 7 M6x16 18 

1"1/2 40 104 20 76 40 2,31 F.05 65 12 35X4 14 13 50 7 M6X20 25 

1"1/2 40 104 20 76 40 2,48 F.07 90 12 55x4 17 15 70 9 M8x20 25 

2" 50 116 20 84 25 3,40 F.05 65 12 35x4 14 13 50 7 M6x20 30 

2" 50 116 20 84 25 3,56 F.07 90 12 55x4 17 15 70 9 M8x20 30 

2"1/2 65 128 20 94,5 25 5,75 F.07 90 12 55x4 17 15 70 9 M8x20 45 

2"1/2 65 128 20 94,5 25 6,25 F.10 125 12 70x4 22 18 102 11 M10x25 45 

3" 80 150 24 106 25 8,93 F.07 90 12 55x4 17 15 70 9 M8x20 70 

3" 80 150 24 106 25 9,43 F.10 125 12 70x4 22 18 102 11 M10x25 70 

4" 100 178 26 120 25 14,80 F.07 90 12 55x4 17 15 70 9 M8x20 80 

4" 100 178 26 120 25 15,70 F.10 125 12 70x4 22 18 102 11 M10x25 80 

Notes board:                  

* Max opening starting point in Nm



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Pos. Denomination P.cs Mat. 

1    Body 1 AISI 304 - 316 

2    Sphere 1 AISI 304 - 316 

3    Sleeves 2 AISI 304 - 316 

4    Pivot 1 AISI 304 - 316 

5    Spheric gasket 2 PTFE 

6    Sleeves gasket 2 PTFE 

7 Pivot gasket 1 PTFE 

8    Pivot gasket 1 PTFE 

9 OR pitvot capacity 1 FKM (Viton) 

10    Register Ring.nut 1 AISI 304 (303) 

11    Locknut 1 AISI 303 

 


